i SKARPVERKTYG

S UARE
DOUBLE SIDED

M/C

S80S 0eeeecececeoccccecoesans
® ¢ 0 ¢ 0000 OEOEOEOECSEOEEOEEOETOEE
N N N NN N R R RN
e e 0 Qe CeCCeCCCECECCecOOOCORe

eeeeceecececcececcccccocecc el
ceoeccececccccccccccs N
e e eeeeeeocececece e :

ecocececcoeces
cceececcccecee oIy
ceocecsccccel R |
ce oo e &
PSP R R RCE S

‘R ¢
|
Y 3 &
: o0 o0 8 S NN
1 ee o A 1§ {
R N ma
&= . . 1.‘ 7S A | i
E eccece s |
% we R | .
” ? f

e



% SKARPVERKTYG

M/CSQUARE
TOOLING COLUMN

» Heat treated (Normalized)
« Application: Good for horizontal M/C

M16 Cap Screw hole

FEATURES:
Free to finish an actual required hole
pattern or your special jig.

N
' o |
- B.;HE@E

S mnim et
L ¢ e Q,_qj
| |
T o
| | |
| |
a ‘: ,
l \ !
! A ’
| ‘ |
| : |
i |
i ‘ |
C_a T ==tz G fe—T'1g
s/ [E[El ¢ 7] 2%
SPECIFICATIONS (Material: FCD 50 / Aluminum A356) Griitrin
: Weight (kg)
Model A B C D E F G Mounting Holes FD50 1356
HSF-400400-0500 | 500 | 400 | 250 | 320 | 200 | 55 50 4 166 65
HSF-500500-0600 | 600 | 500 | 300 [ 400 | 250 | 75 50 8 253 100
HSF-630630-0700 | 700 | 630 | 350 | 500 | 315 100 50 8 371 146
HSF-800800-0800 | 800 | 800 | 500 | 640 | 400 | 135 | 50 8 607 240

We Accept Order for Special Design !!



% SKARPVERKTYG

‘ ‘
. e || &
I |._M16 Cap Screw hole
|
M/CDOUBLE SIDED IR
| !
TOOLING COLUMN B/ D 4 ==
» Heat treated (Normalized) | |
« Application: Good for horizontal M/C Al
S S
FEATURES: I =
Free to finish an actual required hole -
pattern or your special jig. . H [ ‘2 AT
1 ) R
|
]
| |
‘ ‘
i A |
| | |
| |
| |
\ | |
1 » ¢—|T—Lf18 ?Il Jt—-—l—lﬂs
3-M16 |
VLELE g ¢ 25
SPECIFICATIONS (Material: FCD 50/ Aluminum A356) Unit: mm

: Weight (kg)

Model A B © D E F G H Mounting Holes FCD50 1356
HDF-400400-0500 | 500 | 400 | 150 | 320 | 200 | 55 | 50 | 400 4 168 73
HDF-500500-0600 | 600 | 500 | 200 | 400 | 250 | 75 50 | 500 6 282 108
HDF-630630-0700 | 700 | 630 | 250 | 500 | 315 | 100 | 50 | 630 | 6 444 170
HDF-800800-0800 | 800 | 800 | 300 | 640 | 400 | 135 | 50 | 800 | 6 646 247




% SKARPVERKTYG

M/CSQUARE
TOOLING COLUMN

e Heat treated (Normalized)

 Application: Good for horizontal M/C

M16 Cap Screw hole

FEATURES: | *
Locked by MTP locating holes. | L D HEs
Using the assorted, rationalized jig component, LB [lbewmw
you can quickly build up to meet r e R
requirement jig. b Csoﬂ o5 L ¢ |
o000 0 f )
cecee | cesoe
0000 LX) : oo
o000 0 U
216 15013 iz foo1s 500020138308 A Sorss
16 71T 127 T e0000 i 00600
0 il B i L
BN N ] *eses co0coo
125:0. _ !
M16 M12 R | s e = T TN
3-m16/ | F | F | ik ¥ = i
T MTP SECTION ) = E 7| 25
SPECIFICATIONS (Material: FCD 50 / Aluminum A356) it
No.of MTP | Mounti Weight (ka)
Model A B C D E F G T Holes s FD50 56
HSH-400400-0500-12| 500 | 400 | 250 | 320 | 200 | 55 | 50 | @12 | M12 128, 4 161 63
HSH-500500-0600-12| 600 | 500 | 300 | 400 | 250 | 75 | 50 | @12 | M12 | 200 8 246 94
HSH-630630-0700-12| 700 | 630 | 350 | 500 | 315 | 100 | 50 | @12 | M12 | 288 8 361 138
HSH-800800-0800-12| 800 | 800 | 500 | 640 | 400 | 135 | 50 | @12 | M12 | 504 8 589 225
HSH-400400-0500-16| 500 | 400 | 250 | 320 | 200 | 55 | 50 | @16 | M16 | 128 4 158 60
HSH-500500-0600-16/ 600 | 500 | 300 | 400 | 250 | 75 | 50 | o16 | M16 | 200 8 241 92
HSH-630630-0700-16| 700 | 630 | 350 | 500 | 315 | 100 | 50 | @16 | M16 | 288 8 353 135
HSH-800800-0800-16| 800 | 800 | 500 | 640 | 400 | 135 | 50 | @16 | M16 | 504 8 576 220

We Accept Order for Special Design !!



% SKARPVERKTYG

M/CDOUBLE SIDED 1% (i [ %) emososmsae
i
TOOLING COLUMN 8D/ oL
« Heat treated (Normalized) | |
« Application: Good for horizontal M/C | he !
— D 8]
FEATURES: L B | [ L 0.02/300 TA]
Locked by MTP locating holes. S
Using the assorted, rationalized jig component, H ‘ I“’c“;—w
you can quickly build up to meet ‘ _==50:002 T T
. . 0000000 OCEO !
requirement jig. ccco0coo0o00o0 ‘ :
c0o00o0ooooe | |
eo0o0o0ocloccooe }
AR S5 34 3555 T |
161 ] 120 002ilo 000000000 i
mfk HR i it |
N N jfeeco0o0o000e ‘ l
| [, |
Mi6 Miz 1 Beelr— e —y=——F
T MTP SECTION e/ [F\Flg ® 25
SPECIFICATIONS (Material: FCD 50 / Aluminum A356) Unit: mm
No.of MTP i Weight (kg)
Model RSB CuE D B R e T rebelgl bl S R
HDH-400400-0500-12| 500 | 400 | 150 | 320 | 200 | 55 | 50 | 400 | @12 | M12 | 128 | 4 163 | 62
HDH-500500-0600-12| 600 | 500 | 200 | 400 | 250 | 75 | 50 | 500 | @12 | M12 | 200 | 6 275 | 105
HDH-630630-0700-12 | 700 | 630 | 250 | 500 | 315 | 100 | 50 | 630 | @12 | M12 | 288 | 6 434 | 166
HDH-800800-0800-12) 800 | 800 | 300 | 640 | 400 | 135 | 50 | 800 | @12 | M12 | 420 | 6 | 631 | 241
HDH-400400-0500-16| 500 | 400 | 150 | 320 | 200 | 55 | 50 | 400 | 916 |M16 | 128 | 4 | 160 | 6
HDH-500500-0600-16] 600 | 500 | 200 | 400 | 250 | 75 | 50 | 500 | @16 | Mi6 | 200 | 6 | 269 | 102
HDH-630630-0700-16 | 700 | 630 | 250 | 500 | 315 | 100 | 50 | 630 | ol6 | M16 | 288 | 6 | 426 | 163
HDH-800800-0800-16| 800 | 800 | 300 | 640 | 400 | 135 | 50 | 800 | @16 | M16 | 420 | 6 | 620 | 237




SKARPVERKTYG

| PRECSIONTOOL

Bmomoss

M/CSQUARE
TOOLING COLUMN

» Heat treated (Normalized)
- Application: Good for horizontal M/C

M16 Cap Screw hole

FEATURES: 15 ' i
Locked by T-slot. LD -
" 4 s - L B | o000 1]
Using the assorted, rationalized jig component, -
you can quickly build up to meet requirement jig. Hﬂﬂgﬁlﬂiﬂmj I .
™ | c .
== R
Y s "
t J I%O‘IB S T“ii 1/ P
A H o:o.oz:_ [ ::: f__::ﬂ: A B ;— _::
— ——Essle=s — =
tt 1 020,02 ¢ W f
\\\ ) | BF}F&—"—} 118 LG’L ‘T——H—]S
3-M16 / A |’ o [ '
e op=t 5 B 25
SPECIFICATIONS (Material: FCD 50 / Aluminum A356) | —
Weight (ko)

Model A B c D E F G H I J FCD50 4356
HST-400400-0500-14| 500 | 400 | 250 | 320 | 200 | 55 50 | 100 | 150 | 14 153 58
HST-500500-0600-14| 600 | 500 | 300 | 400 | 250 | 75 50 | 100 [ 150 [ 14 233 89

|
HST-630630-0700-14 | 700 630 | 350 500 | 315 100 50 125 150 14 | 348 133
| \

HST-800800-0800-14| 800 | 800 | 500 | 640 | 400 | 135 | 50 | 150 | 150 | 14 574 220
HST-400400-0500-18| 500 | 400 | 250 | 320 | 200 | 55 | 50 | 100 | 150 | 18 146 56
HST-500500-0600-18| 600 | 500 | 300 | 400 | 250 | 75 | 50 | 100 | 150 | 18 224 85
HST-630630-0700-18| 700 | 630 | 350 | 500 | 315 | 100 | 50 | 125 | 150 | 18 337 129
HST-800800-0800-18| 800 | 800 | 500 | 640 | 400 | 135 | 50 | 150 | 150 | 18 55 | 214

We Accept Order for Special Design !!

6



M/CDOUBLE SIDED
TOOLING COLUMN

» Heat treated (Normalized)
« Application: Good for horizontal M/C

FEATURES:

Locked by T-slot.

Using the assorted, rationalized jig component,
you can quickly build up to meet requirement jig.

0.01/150 _
|Ll0.02/300 [A]B] |

FC

‘ M16 CAP MTP hole
M|

N . .
| Jsgore
A Ko |1 A
% Il
Jigoe e ‘
& : |i0.04l I = -;]B— =7 IY_'ZTS &C:-i -; 3 = :18
B smis” | F|F| ® 95 ®
SPECIFICATIONS (Material: FCD 50/ Aluminum A356) 7 B Uns i
Model Pl Rl o Wi o e R e | J K mWels'Ilt(kal G
HDT-400400-0500-14| 500 | 400 | 150 | 320 | 200 | 55 | 50 | 400 | 150 | 14 | 100 157 \ 60
HDT-500500-0600-14| 600 | 500 | 200 | 400 | 250 | 75 | 50 | 500 | 150 | 14 | 100 2051100
HDT-630630-0700-14| 700 | 630 | 250 | 500 | 315 | 100 | 50 | 630 | 150 | 14 | 125 423 \ 161
HDT-800800-0800-14| 800 | 800 | 300 | 640 | 400 | 135 | 50 | 800 | 150 | 14 | 150 i -
HDT-400400-0500-18| 500 | 400 | 150 | 320 | 200 | 55 | 50 | 400 | 150 | 18 | 100 152 | 58
HDT-500500-0600-18| 600 | 500 | 200 | 400 | 250 | 75 | 50 | 500 | 150 | 18 | 100 258 98
HDT-630630-0700-18| 700 | 630 | 250 | 500 | 315 | 100 | 50 | 630 | 150 | 18 | 125 413 158
HDT-800800-0800-18| 800 | 800 | 300 | 640 | 400 | 135 | 50 | 800 | 150 | 18 | 150 07 |




OPTIONAL ACCESSORIES:

PROTECTION PLUG

POSITIONING BUSHING

SPECIFICATIONS (Material: 545C)

Unit:mm

>

Model | A B c D (Thread)
e HPP121S | 14 | 22 | m M12
L= HPP-16-JIS | 18 | 25 ; 13 M16
D
SPECIFICATIONS (Material: S45C. Hardness: HRC 32°~35°) Unit:mm
Model A B c Weight (kg)
HTI-0612-10 Méx10 | MI2x1.5 10 | 0005
P HTI-0814-12 Mex125 |  MI4X15 2. .| loges
cliff | i HTI016-15 | Miox15 | Miext5s | 15 | 0010
\ ey HT21816 | M12x1.75 M18x2.0 16 | 005
LA || HTI-1420-18 | M14x20 | M20x2.0 18 | 0030
et HTI162220 | Mi6x20 | M22x2.0 300 008
HTI-2028-25 | M20x2.0 | M28x2.0 | 25 | 0050
SPECIFICATIONS (Material: SUJ2. Hardness: HRC 60°) Unit: mm
S Model A B | C R |R2|R L1 | Weghtko
N N o 2,
TR e T e AR
SRR — i i i ‘
y HPB-1018-12 | 010 | 018 | 12 | 15 | 1 |05 |15 | 0015
L' B 2/ HPB-122012 | 012 (020 | 12 [15] 1 05| 15| o001
ol Al HPB-1423-16 o14 | @23 | 16 | 15 | 1 | 05 | 15 0.030
(B005 L "uppis2316 | a15 |23 | 16 | 15| 1 | 05| 15 | 0028
—{©]0.01
HPB-162316 | 016 | @23 | 16 | 15 | 1 | 05 | 15 | 0025
HPB-182620 | 218 [e26 | 20 [ 2 [ 15[ 05|25 0040
HPB203020 | 620 | @30 | 20 | 2 |15 | 05| 25| 0060
 HPB-223020 [ 222 30 20 [ 2 [ 15 [ 05 [ 25| 0050
HPB-2535-20 | 025 | @35 | 20 | 2 | 15 | 05 | 25 0.070
HPB-304225 |30 o042 | 25 [ 2 [ 15 [ 05 | 25 i
© HPB-4055-30 240 | @55 | 30 | 3 | 2 | 1 3 0.255
HPB-5070-30 |50 [o70 [ 30 | 3 [ 2 [ 1 | 3 0.430

SKARPVERKTYG AB

Kraketorpsgatan 10, 431 53 MOLNDAL
Tel:031-870050, Fax:031-871415

info@skarpverktyg.se, www.skarpverktyg.se

e

S


mailto:info@skarpverktyg.se

